
 
DE         4/7/13            BM  

 

 
DIFFERENTIAL EQUATIONS     
SELECTED FORMULAE 
 
EXACT  

𝐸𝑞𝑢𝑎𝑡𝑖𝑜𝑛   𝑴(𝒙,𝒚)𝒅𝒙+𝑵(𝒙,𝒚)𝒅𝒚 = 𝟎   𝑖𝑠 𝑒𝑥𝑎𝑐𝑡 𝑖𝑓    
𝝏𝑴(𝒙,𝒚)

𝝏𝒚 =
𝝏𝑵(𝒙,𝒚)

𝝏𝒙    𝑜𝑟 𝑴𝒚 = 𝑵𝒙     𝐒𝐨𝐥𝐮𝐭𝐢𝐨𝐧:   𝑭(𝒙,𝒚) = �𝑴(𝒙,𝒚)𝝏𝒙+𝝋(𝒚) 

𝝏
𝝏𝒚𝑭

(𝒙,𝒚) =
𝝏∫𝑴(𝒙,𝒚)𝝏𝒙

𝝏𝒚 +𝝋′(𝒚) = 𝑵(𝒙,𝒚)     𝑠𝑜𝑙𝑣𝑒 𝑓𝑜𝑟     𝝋′(𝒚)      𝑎𝑛𝑑 𝑖𝑛𝑡𝑒𝑔𝑟𝑎𝑡𝑒       𝝋(𝒚) = �𝝋′(𝒚) + 𝒄 

  ∎ 𝑭(𝒙,𝒚) = �𝑴(𝒙,𝒚)𝝏𝒙+𝝋(𝒚) + 𝒄    

 𝐼𝑓  𝑴𝒚 ≠ 𝑵𝒙   𝑎𝑛 𝑖𝑛𝑡𝑒𝑔𝑟𝑎𝑡𝑖𝑛𝑔 𝑓𝑎𝑐𝑡𝑜𝑟 𝑚𝑎𝑦 𝑏𝑒    𝝁(𝒙) = 𝒆∫
𝑴𝒚−𝑵𝒙

𝑵 𝒅𝒙    𝑠𝑜     𝝁(𝒙)𝑴(𝒙,𝒚)𝒅𝒙+ 𝝁(𝒙)𝑵(𝒙,𝒚)𝒅𝒚 = 𝟎     𝑏𝑒𝑐𝑜𝑚𝑒𝑠 𝑒𝑥𝑎𝑐𝑡. 
 
SEPARABLE 

𝐸𝑞𝑢𝑎𝑡𝑖𝑜𝑛   𝑭(𝒙)𝑮(𝒚)𝒅𝒙+ 𝒇(𝒙)𝒈(𝒚)𝒅𝒚 = 𝟎   𝑖𝑠 𝑠𝑒𝑝𝑎𝑟𝑎𝑏𝑙𝑒 𝑎𝑠 
𝑭(𝒙)
𝒇(𝒙)𝒅𝒙 +

𝑮(𝒙)
𝒈(𝒙)𝒅𝒚   𝒐𝒓 𝑴(𝒙)𝒅𝒙+𝑵(𝒙)𝒅𝒚 = 𝟎 

  ∎ 𝑭(𝒙,𝒚) = �𝑴(𝒙)𝒅𝒙 +�𝑵(𝒚)𝒅𝒚 + 𝒄     

 
HOMOGENEOUS 

𝐸𝑞𝑢𝑎𝑡𝑖𝑜𝑛   𝑴(𝒙,𝒚)𝒅𝒙+𝑵(𝒙,𝒚)𝒅𝒚 = 𝟎   𝑖𝑠 𝐻𝑜𝑚𝑜𝑔𝑒𝑛𝑒𝑜𝑢𝑠 𝑖𝑓  
𝒅𝒚
𝒅𝒙 = 𝒇(𝒙,𝒚) 𝑐𝑎𝑛 𝑏𝑒 𝑒𝑥𝑝𝑟𝑒𝑠𝑒𝑑 𝑎𝑠 

𝒅𝒚
𝒅𝒙 = 𝒈(𝒚/𝒙) 

𝐒𝐨𝐥𝐮𝐭𝐢𝐨𝐧:  𝑠𝑒𝑡 𝒗 =
𝒚
𝒙   𝒚 = 𝒗𝒙 𝑎𝑛𝑑 

𝒅𝒚
𝒅𝒙 = 𝒗 + 𝒙

𝒅𝒗
𝒅𝒙   𝑠𝑜  𝒈(𝒚/𝒙) = 𝒈(𝒗)  𝑎𝑛𝑑   𝒗+ 𝒙

𝒅𝒗
𝒅𝒙 = 𝒈(𝒗)  𝑜𝑟 [𝒗 −𝒈(𝒗)]𝒅𝒙+ 𝒙𝒅𝒚 = 𝟎  (𝑠𝑒𝑝𝑎𝑟𝑎𝑏𝑙𝑒) 

  
𝒅𝒗

𝒗− 𝒈(𝒗) +
𝒅𝒙
𝒙 =  𝟎        �  

𝒅𝒗
𝒗 −𝒈(𝒗) + �

𝒅𝒙
𝒙 = 𝒄     𝒐𝒓     ∎ 𝑭�

𝒚
𝒙�+ 𝒍𝒏|𝒙| = 𝒄 

 
HOMOGENEOUS WITH CONSTANT COEFICIENTS 

𝒂𝟎𝒚′′′ + 𝒂𝟏𝒚′′ + 𝒂𝟐𝒚′ + 𝒂𝟑𝒚 = 𝟎   𝑓𝑖𝑛𝑑:  𝒂𝟎𝒎𝟑 + 𝒂𝟏𝒎𝟐 + 𝒂𝟐𝒎+ 𝒂𝟑 = 𝟎     𝑅𝑜𝑜𝑡𝑠:  𝒎 = {𝒓𝟏  𝒓𝟐  𝒓𝟑}      

∎  𝒚 = 𝒄𝟏𝒆𝒓𝟏𝒙 + 𝒄𝟐𝒆𝒓𝟐𝒙 + 𝒄𝟑𝒆𝒓𝟑𝒙           𝐼𝑓  𝒓𝟐 = 𝒂 + 𝒃𝒊  𝑡ℎ𝑒𝑛  𝒓𝟑 = 𝒂 − 𝒃𝒊   𝑎𝑛𝑑   ∎  𝒚 = 𝒄𝟏𝒆𝒓𝟏𝒙 + 𝒆𝒂𝒙(𝒄𝟐 𝐬𝐢𝐧𝒃𝒙 + 𝒄𝟑 𝐜𝐨𝐬𝒃𝒙) 
 
 
UNDETERMINED COEFICIENTS (UC) 

𝒂𝟎𝒚′′ + 𝒂𝟏𝒚′ + 𝒂𝟐𝒚 = 𝑭(𝒙)  𝑓𝑖𝑛𝑑 𝑡ℎ𝑒 𝑛𝑜𝑛 𝑑𝑢𝑝𝑙𝑖𝑐𝑎𝑡𝑖𝑛𝑔 𝑠𝑒𝑡 𝑜𝑓 𝑈𝐶  {𝒇𝟏  𝒇𝟐  𝒇𝟑 … }    𝒚𝒑 = 𝑨𝒇𝟏 +𝑩𝒇𝟐 + 𝑪𝒇𝟑 … 

𝑓𝑖𝑛𝑑 𝑨 𝑩 𝑎𝑛𝑑 𝑪  𝑒𝑞𝑢𝑎𝑡𝑖𝑛𝑔  𝒂𝟎𝒚𝒑′′ + 𝒂𝟏𝒚𝒑′ + 𝒂𝟐𝒚𝒑 = 𝑭(𝒙)  𝑡ℎ𝑒𝑛     ∎   𝒚 =  𝒄𝟏𝒆𝒓𝟏𝒙 + 𝒄𝟐𝒆𝒓𝟐𝒙 +  𝑨𝒇𝟏 +𝑩𝒇𝟐 + 𝑪𝒇𝟑… 

 
LINEAR 

𝐴𝑛 𝑒𝑞𝑢𝑎𝑡𝑖𝑜𝑛  𝑒𝑥𝑝𝑟𝑒𝑠𝑠𝑒𝑑 𝑎𝑠 
𝒅𝒚
𝒅𝒙+ 𝑷(𝒙)𝒚 = 𝑸(𝒙) 𝑖𝑠 𝑎𝑛 𝑜𝑟𝑑𝑖𝑛𝑎𝑟𝑦 𝑙𝑖𝑛𝑒𝑎𝑟 𝐷𝐸.       𝐒𝐨𝐥𝐮𝐭𝐢𝐨𝐧:    ∎  𝒆∫𝑷(𝒙)𝒅𝒙𝒚 = �𝒆∫𝑷(𝒙)𝒅𝒙𝑸(𝒙)𝒅𝒙+ 𝒄      

 
BERNOULLI 

𝐴𝑛 𝑒𝑞𝑢𝑎𝑡𝑖𝑜𝑛  𝑒𝑥𝑝𝑟𝑒𝑠𝑠𝑒𝑑 𝑎𝑠   
𝒅𝒚
𝒅𝒙 +𝑷(𝒙)𝒚 = 𝑸(𝒙)𝒚𝒏    𝑖𝑠 𝑎 𝐵𝑒𝑟𝑛𝑜𝑢𝑙𝑙𝑖 𝐷𝐸.     𝐒𝐨𝐥𝐮𝐭𝐢𝐨𝐧:  𝑠𝑒𝑡   𝒗 = 𝒚𝒏−𝟏  𝑤ℎ𝑒𝑟𝑒  

𝒅𝒗
𝒅𝒙 = (𝒏− 𝟏)𝒚−𝒏 ∙

𝒅𝒚
𝒅𝒙     

𝑎𝑛𝑑 
𝒅𝒗
𝒅𝒙 + (𝒏− 𝟏)𝑷(𝒙)𝒗 = (𝒏− 𝟏)𝑸(𝒙);    𝑷𝟏(𝒙) = (𝒏− 𝟏)𝑷(𝒙);   𝑸𝟏(𝒙) = (𝒏− 𝟏)𝑸(𝒙)      ∎  

𝒅𝒗
𝒅𝒙 +𝑷𝟏(𝒙)𝒗 = 𝑸𝟏(𝒙)   (𝑙𝑖𝑛𝑒𝑎𝑟 𝑖𝑛 𝑣)   

 
ORDER REDUCTION 

𝑇𝑜 𝑟𝑒𝑑𝑢𝑐𝑒 𝑠𝑒𝑐𝑜𝑛𝑑 𝑜𝑟𝑑𝑒𝑟 ℎ𝑜𝑚𝑜𝑔𝑒𝑛𝑒𝑜𝑢𝑠 𝑙𝑖𝑛𝑒𝑎𝑟 𝐷𝐸    𝒂𝟎(𝒙)𝒚′′ + 𝒂𝟏(𝒙)𝒚′ + 𝒂𝟐(𝒙)𝒚 = 𝟎  𝑡𝑜 𝑓𝑖𝑟𝑠𝑡 𝑜𝑟𝑑𝑒𝑟 𝑖𝑓  𝒇(𝒙) 𝑖𝑠 𝑎 𝑘𝑛𝑜𝑤𝑛 𝑠𝑜𝑙𝑢𝑡𝑖𝑜𝑛, 

𝑠𝑒𝑡  𝒈(𝒙) = 𝒗(𝒙)𝒇(𝒙)      𝒘(𝒙) = 𝒗′(𝒙)       𝒘(𝒙) =  
𝒆−∫

𝒂𝟏(𝒙)
𝒂𝟎(𝒙)𝒅𝒙

[𝒇(𝒙)]𝟐      𝒗(𝒙) = �𝒘(𝒙)𝒅𝒙           𝐆𝐞𝐧𝐞𝐫𝐚𝐥 𝐬𝐨𝐥𝐮𝐭𝐢𝐨𝐧:  ∎ 𝒚 = 𝒄𝟏𝒇(𝒙) + 𝒄𝟐𝒈(𝒙)       

𝐸𝑢𝑙𝑒𝑟′𝑠𝑓𝑜𝑟𝑚𝑢𝑙𝑎:   𝒆𝒊𝝑 = 𝐜𝐨𝐬𝝑 + 𝒊 𝐬𝐢𝐧𝝑 

 



 
DE         4/7/13            BM  

 

 
CAUCHY-EULER EQUATION 

𝑇ℎ𝑖𝑟𝑑 𝑜𝑟𝑑𝑒𝑟:  𝒂𝟎𝒙𝟑𝒚′′′ + 𝒂𝟏𝒙𝟐𝒚′′ + 𝒂𝟐𝒙𝒚′ + 𝒂𝟑𝒚 = 𝑭(𝒙)  𝑠𝑢𝑏𝑠𝑡𝑖𝑡𝑢𝑡𝑒: 𝒙 = 𝒆𝒕 𝑡ℎ𝑒𝑛  𝒕 = 𝐥𝐧𝒙    𝒙𝟑𝒚′′′ = 𝒚𝒕′′′ − 𝟑𝒚𝒕′′ + 𝟐𝒚𝒕′    𝒙𝟐𝒚′′ =  𝒚𝒕′′ − 𝒚𝒕′  

𝒙𝒚′ =  𝒚𝒕′        𝐂𝐡𝐚𝐫𝐚𝐜.𝐞𝐪:  𝒂𝟎𝒎𝟑 + 𝒂𝟏𝒎𝟐 + 𝒂𝟐𝒎+ 𝒂𝟑 = 𝟎         𝐑𝐨𝐨𝐭𝐬:    𝒎 = {𝒓𝟏, 𝒓𝟐, 𝒓𝟑}             𝒚𝒕𝒄 = 𝒄𝟏𝒆𝒓𝟏𝒕 + 𝒄𝟐𝒆𝒓𝟐𝒕 + 𝒄𝟑𝒆𝒓𝟑𝒕    

𝑑𝑒𝑡𝑒𝑟𝑚𝑖𝑛𝑒 𝑭(𝒕)   𝑝𝑎𝑟𝑡𝑖𝑐𝑢𝑙𝑎𝑟 𝑖𝑛𝑡𝑒𝑔𝑟𝑎𝑙 𝑐𝑜𝑒𝑓.  𝑎𝑛𝑑 𝑐𝑜𝑛𝑣𝑒𝑟𝑡  𝒚(𝒕)  𝑡𝑜 ∎  𝒚(𝒙) = 𝒄𝟏𝒚𝟏(𝒙) + 𝒄𝟐𝒚𝟐(𝒙) + 𝒄𝟑𝒚𝟑(𝒙) + 𝑨𝒇(𝒙)𝟏 + 𝑩𝒇(𝒙)𝟐 +⋯ 

 

VARIATION OF PARAMETERS 

𝑆𝑒𝑐𝑜𝑛𝑑 𝑜𝑟𝑑𝑒𝑟:  𝒂𝟎(𝒙)𝒚′′ + 𝒂𝟏(𝒙)𝒚′ + 𝒂𝟐(𝒙)𝒚 = 𝑭(𝒙)        𝒚𝒄 = 𝒄𝟏𝒚𝟏(𝒙) + 𝒄𝟐𝒚𝟐(𝒙)           𝒚𝒑 = 𝒗𝟏(𝒙)𝒚𝟏(𝒙) + 𝒗𝟐(𝒙)𝒚𝟐(𝒙)  

�
𝒗𝟏′

𝒗𝟐′
� = �

𝒚𝟏 𝒚𝟐
𝒚𝟏′ 𝒚𝟐′

�
−𝟏

× �𝟎𝑭�           𝒗𝟏 = �𝒗𝟏′ 𝒅𝒙   𝒗𝟐 = �𝒗𝟐′ 𝒅𝒙         ∎   𝒚 = 𝒄𝟏𝒚𝟏(𝒙) + 𝒄𝟐𝒚𝟐(𝒙) + 𝒗𝟏(𝒙)𝒚𝟏(𝒙) + 𝒗𝟐(𝒙)𝒚𝟐(𝒙)   

 

LAPLACE TRANSFORM 

𝓛{𝒇(𝒕)} = 𝑭(𝒔) = � 𝒆−𝒔𝒕𝒇(𝒕)𝒅𝒕
∞

𝟎
    𝒇(𝒕) = 𝓛−𝟏{𝑭(𝒔)}         𝓛{𝒚(𝒕)} = 𝒀(𝒔)       𝓛{𝒚′} = 𝒔𝒀 − 𝒚(𝟎)          𝓛{𝒚′′} = 𝒔𝟐𝒀 − 𝒔𝒚(𝟎)−𝒚′(𝟎) 

𝓛{𝒚′′′} = 𝒔𝟑𝒀− 𝒔𝟐𝒚(𝟎)− 𝒔𝒚′(𝟎)− 𝒚′′(𝟎)                 𝒂𝟎𝒚′′ + 𝒂𝟏𝒚′ + 𝒂𝟐𝒚 = 𝑭(𝒙)    𝒂𝟎𝓛{𝒚′′} + 𝒂𝟏𝓛{𝒚′} + 𝒂𝟐𝓛{𝒚} = 𝓛{𝑭}    

𝒂𝟎�𝒔𝟐𝒀 − 𝒔𝒚(𝟎)−𝒚′(𝟎)�+ 𝒂𝟏�𝒔𝒀− 𝒚(𝟎)�+ 𝒂𝟐𝒀 = 𝓛{𝑭}            𝑠𝑜𝑙𝑣𝑒 𝑓𝑜𝑟   𝒀(𝒔)     𝑎𝑛𝑑 𝑓𝑖𝑛𝑑     ∎  𝒚 = 𝓛−𝟏{𝒀(𝒔)} 

 

 

 

 

      

 

 

 

 

 

 

 

 

 

 

 

 

 𝒇(𝒕) = 𝓛−𝟏{𝑭(𝒔)} 𝑭(𝒔) = 𝓛{𝒇(𝒕)} 

1 𝟏 
𝟏
𝒔

 

2 𝒆𝒂𝒕 
𝟏

𝒔 − 𝒂
 

3 𝐬𝐢𝐧𝒃𝒕 
𝒃

𝒔𝟐 + 𝒃𝟐
 

4 𝐜𝐨𝐬𝒃𝒕 
𝒔

𝒔𝟐 − 𝒃𝟐
 

5 𝐬𝐢𝐧𝐡𝒃𝒕 
𝒃

𝒔𝟐 − 𝒃𝟐
 

6 𝐜𝐨𝐬𝐡𝒃𝒕 
𝒔

𝒔𝟐 + 𝒃𝟐
 

7 𝒕𝒏 
𝒏!
𝒔𝒏+𝟏

 

8 𝒕𝒏𝒆𝒂𝒕 
𝒏!

(𝒔 − 𝒂)𝒏+𝟏 

 𝒇(𝒕) = 𝓛−𝟏{𝑭(𝒔)} 𝑭(𝒔) = 𝓛{𝒇(𝒕)} 

9 𝒕 𝐬𝐢𝐧𝒃𝒕 
𝟐𝒃𝒔

(𝒔𝟐 + 𝒃𝟐)𝟐 

10 𝒕 𝐜𝐨𝐬𝒃𝒕 
𝒔𝟐 − 𝒃𝟐

(𝒔𝟐 + 𝒃𝟐)𝟐 

11 𝒆−𝒂𝒕𝐬𝐢𝐧𝒃𝒕 
𝒃

(𝒔 + 𝒂)𝟐 + 𝒃𝟐
 

12 𝒆−𝒂𝒕𝐜𝐨𝐬𝒃𝒕 
𝒔 + 𝒂

(𝒔 + 𝒂)𝟐 − 𝒃𝟐
 

13 
𝐬𝐢𝐧𝒃𝒕 − 𝒃𝒕 𝐜𝐨𝐬𝒃𝒕

𝟐𝒃𝟑
 

𝟏
(𝒔𝟐 + 𝒃𝟐)𝟐 

14 
𝒕𝐬𝐢𝐧𝒃𝒕
𝟐𝒃

 
𝒔

(𝒔𝟐 + 𝒃𝟐)𝟐 

15 𝒖𝒂(𝒕) 
𝒆−𝒂𝒔

𝒔
 

16 𝒖𝒂(𝒕)𝒇(𝒕 − 𝒂) 𝒆−𝒂𝒔𝑭(𝒔) 

 𝒇(𝒕) = 𝓛−𝟏{𝑭(𝒔)} 𝑭(𝒔) = 𝓛{𝒇(𝒕)} 

1 𝟏 
𝟏
𝒔

 

2 𝒆𝒂𝒕 
𝟏

𝒔 − 𝒂
 

3 𝐬𝐢𝐧𝒃𝒕 
𝒃

𝒔𝟐 + 𝒃𝟐
 

4 𝐜𝐨𝐬𝒃𝒕 
𝒔

𝒔𝟐 + 𝒃𝟐
 

5 𝐬𝐢𝐧𝐡𝒃𝒕 
𝒃

𝒔𝟐 − 𝒃𝟐
 

6 𝐜𝐨𝐬𝐡𝒃𝒕 
𝒔

𝒔𝟐 − 𝒃𝟐
 

7 𝒕𝒏 
𝒏!
𝒔𝒏+𝟏

 

8 𝒕𝒏𝒆𝒂𝒕 
𝒏!

(𝒔 − 𝒂)𝒏+𝟏 


